Multibody Drill A
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Practice)  Find the acclerations and tensions of the ropes on the right.

1)  Find the acceleration and the tension in the rope between the 2 masses.  Assume μ = 0.


2)  Repeat if μ = 0.2.


3) Find the acceleration and the tension in the rope between the 2 masses.  

4)  Find the force required to accelerate the 2 masses at a rate of +2.5 m/s2.

5)  Find the acceleration and the tension in the 2 ropes if the surface is frictionless.


6)  Repeat if the coefficient of kinetic friction is 0.10
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